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te 0+ sin (0, + f) = sin 0. cos P + cos & sin f
104 = i

1-tgat
A g g.P || sin (0 = B) = sin 0 cos P - cos o sin

cos (o+ P) = cos & cos P — sin 0: sin

cos (0. = P) = cos 0. cos P + sin 0. sin

aamas S————




DopMyJIbI IBOMHOIO YIJIA

sin 20. = 2 sin o cos 0.

cos 20 = cos® o — sin® (.
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Ned Bpruucaure:
1) cos? 15° — sin? 15°; 3) (cos 15° + sin 15°)?;
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Ne5 Jloxamxkure TOKIECTBO:
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1) cos® 7 —sin? = =008 %;




Ne6 JTokamure TOKIECTBO:

3) (ctg o — tg o) sin 20 = 2 cos 20
ctgza-l

5) ctg 20=

2ctg o :




